BT EZRRDEINBREINR

(HF6E11BXKIBTT)
ERSEELeEE
\ CAISE | THOE | IBHE ISR (%) | HERNEL (%)
_ | SEISE BEU| BEISE BEC] BEIEE SEC

£ 25 = 5 121] of 130/ 0 9/ 0 7.4 100.0
o = ES 5 39 49 10 25.6 37.7
E N R 8 B ¥ 5 12 7 140.0 9.2
i # X K8 ® & F 1 1 0 +0 0.8
AMAXANEHE GBEHREE 1 0 -1 -100.0 0.0
X B X g & ® & % 2 1 -1 -50.0 0.8
1t = T £ 3 5 2 66.7 3.8
S55TSRAF v I BREEE 3 4 1 33.3 3.1
¥ T O RE S 0 1 1 + oo 0.8
& B &8 R 8B 5 ¥ 7 7 0 +0 5.4
— % MW 3 B RS E 4 4 0 +0 3.1
E XKW B RIS E 1 0 -1 -100.0 0.0
XA EEERTEE 7 5 —2 -28.6 3.8
IV SO I - - 8 13 5 62.5 10.0
+r B H W 0 0 +0 0.0
£ 5% = 5 6 4 -2 -33.3 3.1
+ X T T % 0 0 : +0 0.0
2 O£ I T % 5 4 -1 -20.0 3.1
SHALBEISEEEY 3 1 -2 -66.7 0.8
Z DO o B H 1 0 -1 -100.0 0.0
X o B ' FE Et 1 1 0 +0 0.8
BIESIER - SWMIURLVEST 15 20 5 33.3 15.4
% 3 2 1 -1 -50.0 0.8
EX - BEZXE - KEE 1 2 1 100.0 1.5
F = R E E & 57 53 —4 -7.0 40.8
I 55 T 18 12 -6 -33.3 9.2
£ 8 8 . B 15 14 -1 -6.7 10.8
e = = 2 4 2 100.0 3.1

(P 1 ARG BEEREFRSICEDARELBUEOBBKEHELEET LIZED,

2 EEHHIIARTHD.




O

B REZDDENESHEEINR

T3
(HR6E1 1 AXRIRE)
ENSBEEEEE
TAMSE | BH6F 18RI
18R (%) | #EAREL (%)
FEIEE PEU] SEiRS P SEiES P
5] E S 22 18 —4 -18.2 34.0
g B B & N 7t 2 2 0 =0 3.8
# & Y 5T 1 -1 —-100.0 0.0
& & I & E S 1 -1 —-100.0 0.0
& A ES 1 -1 -100.0 0.0
L & b > B A 0 =0 0.0
BR [E] )= Bl S 0 +0 0.0
& 5 E 3 1 3 2 200.0 5.7
# B bt R E 3 1 -1 —-100.0 0.0
(23 ic4 & & E S 16 17 1 6.3 32.1
ES ) (23 fi2 ES 1 3 2 200.0 0.7
5 B8 L M E 15 14 -1 —6.7 26.4
£ = IR S E 3 1 8 4 100.0 15.1
) v 2 % 1 1 -+ 00 1.9
] EB ES 0 =0 0.0
B W - & & E 6 3 -3 -50.0 0.7
e 1Y B i 1 1 0 =0 1.9
Z O Mt o B % 6 4 —2 -33.3 7.5
E firs ES 1 2 1 100.0 3.8
=] st 57 53 —4 =7.0 100.0
(B 1 AR BEERERRSICEDKELBULEDOBRINSH B ZEST LIZED.

2 FECHHIIANE TH D,




